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Answer all questions Tirne : Th ree trnurs

1. (i) Define price elasticity of dernand .Liow is Price elasticity relatr*d to
for a firm?

(ii) Smooth Sailing Companl, has estimnted the denrand functir:n fcrr
(quantity purchased annuallyl as follows:

Qs:89,830-40Fs+ 20Px + l5 Py'+ 2l'r"0.0iJl A + j0w

Where

Qs: quantity purchased
Fs = the price of Smoottr'l Sailing sailboats
Px = the price of company x's sailboat
Py: the price of corllpany y's motorboat
I : per capita incorne in rupees
A = amount spent on advertising, and
W = number of favorable days of weather in the regiorr

x
(a) Identi{y the dependent and independerrt varlahles in tlre lunction, and

them

total revenue

(3 Marlcs)

its sailboats

int*rpret

(4 N{arks)

(b) Suppttse that Ps:9000 /:,Fx -.9500/: ,Py: 100{}0 i: , I : I5000 i:,
A: 170000/: , W: 160 ; Find the price elasticitl, of"demantj af that point

(fi Marks)

(c) Is prioe elasticity(Ep) elastic , inelastic ,or unitary elastic in part (b) rvhy?

,, {3 MarksJ

(d) What information does your answer glive tro Smoc{h Sailing Cornpany at ihe perint
given in part (h) .Are the boats a nornrnl goocl or an infdrior g*oiJ? Why?

(4 h4arks)
('I'otal 20 blarks)



T

2. Suppose a firm usep inputs of labor L and Capital K to prr:ducr: its output" Q. a,lcording to

the production function Q : rc L% K% .L,ubor is paid an hourl.,,, v/age r'a1.e c{'Rs, 25 and

the rental price of capital is Rs 6.25 .T'he firm decide,s to sr:ll its output ilt the price o'f Rs. 10.

(i) Using appropriate Lagrange rnethod .find the optimurn level cf the labor and
capital

(8 Marks)
(ii) Calculate the profit level ar this stage

(4 lv{arits)

l .caiculate 1,he

(5 N4rirks)

J. (i) Total profit function of SAMSUNG cornpany
Phones(M) ,is given as follorvs :

(a)

(iii) Suppose due to the inflation the pric.e o{'oul"put increa;es b5, Rs.
new profit level

(iv) ijow does this price change nrake eff,ect on labor arrd capital level?
(3 M;,:rks)

{ fotal 20 l\,4arl<s)

whicli procluces ll{F3 Players{P} ancl N,tabile

J'

T n : 5Zp- 0.06p2 + 7AM- 0.1M2 + 0.01p M - g0tjtl'

What combination of the two types of output will maxirnize the ,o,iirrunr'u profit?
(:i Marks)

How much will SAMSLING cornpany maximum monthly profit be? l
ft Vl,rrks)

What is monopoly power? How elasticity ,rf demand determlne ,ir* *l,nopoly of a

firm?
(;t Marks)

(b) A developrnent department in Batticaioa has openerd a rrew' hoLrsing traat jtist
outside the town. A private companli corne to agreemenl to supplv rJrinking wiJtsr
and figures that ,based on average home size ,tlre demand for watel is expressed in
the follor,ving equation :

Qw: 80,000-2000Prv

Where Qw is the number of thousands of gallons of rvater consi:mcd 6rt:r month and

Pw is the price per I 000 gallons. If marginal cost of producing tlre water is constant
at Rs. 5 per 1000 gallons,

(i) What price slrould the companSr charge for the water?

(ii) If the average horne consurnes 10000 gallons per nionth
household's water bill?

(a)

(b)

(ii)

(6 lularks)

,rvhar i,vill be the

(3'h4arks)
(',l-otal20 Marks)



4' An electronic motor company is considering to m*rjernize its plant far:iliries. {ts cul,rentplant capacity is"l millicn *ot"nu per ),ear ,Total variable c*sl.fi as"u;r'ciared .a,ith this plan.tare Rs'10,000,000,and fixecr costsire i rnirion r{rpees. ,re currcn,, c,aparir.v 
'umber 

cfmotors can be sold for Rs.20 each. The company expanclins: ancl niurj*rqizing its plantracitities so that the currenr aapacity r.viu be coriurecr. u^J;;Ti;;;il;;r',;nlr u*riuurr,costs would be expected to decrease to Rs, ,5 ,and fixed cosr-s uvoukJ be ex6recterl to increari,eto2million'Thefirmestimatesthatitcoulcl sell l.5rnillionmotori;ataprlceof'Rs.l- s*rch

(i) Find the present break even quantiry of the (ompany

(ii) What is the present profit level of the conrpilft.v

(iii) would you suggest that proposed prant woLrrd give rnore
show your work?

(b) what is I-iow's dairy eontributiori to profit at the.ptirnar point,?

(c) Interpret slack variables in this solution

Holiday On Wheels (HOW) manufactures two type:r of recreafi*ual vehicles. Crie is atrailer that is towed btil{ l€ar or pickup, and the oit.o*, i, a morcrizeci r,ehicl,* rliat rnor.*sunder its own power' How is trying to deterrnine the optimal conibi'rratIun ,of trai]ers antlmotor homes to produce per dav, given that tliree of the iif *tu (govu,er- traln assentr,ly, p*intand trim line, body assemply)n*ud.o to protluce these products flre a,,railable in limiteejamounts' Manufacture of one rriotor home requires 2 hourrs "of prlver trra.in asremplycapacity' 2'5 hours of paint and trim capacity, anci ii hours olrrorirl u"r*rnpiy .upu.iry,whereas the production of one trailer r*qrire, anly 2hours of pairii ailr.1 irin.r capacity a*ci 2hours of body assernply capacity. t --'J 
t

How has available on a dairy basis 300 hours o1'power train as.sempr3r ca.pacit;,,500 hoursof llj"t.an{^trim capaciti,. an<j 540 h.ours of boclrr assenrp}y capacity. The pictitcontribution of a motor horre is Rs.40u0,rvlrile that oi.a rrailer is I{s.iOgt)

(a) Using graphical.solution methocls, fincl the profit rnaxiinizing c*rnbinarion of"rnct,rrhomes and traver traiJers that How shourd produce daitry,

iB hziarks)

('1 li'i:rr:ks)

prtifil frrr the corr;pan3r ?

(8 Nlarks,r

i'f'otai ?0 kiarks)

(12 h4arks)

{4'\{aLks)

(4 h,frrrks)
('i'ot;r!,20 Mar:ks)

** + {c r,k {. * * *.f * * + *,1. * ii< *" *, ;i<


